Bid #OPN2116616B1 - Uniforms

Start Date Jul 12, 2018 4:16:39 PM EDT Awarded Date Not Yet Awarded

OPN2116616B101-01 Jackets, Windbreaker style,long elastic cuffedraglan sleeves, Various colour S-XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
The Player's Connection [Ad]	First Offer - \$14.25	213 / each	\$3,035.25		Υ		
Supplier Product Code: 3100 ency Notes: Supplier Notes: Delivery after receipt of Pure 15 business days after artwork approval			Purchase	o Order::			
Sharp Marketing	First Offer - \$14.50	213 / each	\$3,088.50		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Adult Nylon Coach's Jac	very after receipt of	Purchase	o Order::		

OPN2116616B101-02 Jackets, Windbreaker style, lined:long elastic cuffed sleeves, Various colors, 2XL						
Supplier	Unit Price	e Qty/Unit Total Price Attch. Doc				
Sharp Marketing	First Offer - \$15.67	36 / each	\$564.12		Υ	
Product Code: Agency Notes:		Supplier Product Code: 3100 Supplier Notes: Delivery after receipt of Purchase Ore 30 Adult Nylon Coach's Jacket/Lined				
The Player's Connection [Ad]	First Offer - \$17.00	36 / each	\$612.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 business days after	very after receipt of	Purchase	e Order::	

OPN2116616B101-03 Jackets, Windbreaker style, lined, long elastic cuffed raglan sleeves: 3XL							
Supplier	Unit Price	e Qty/Unit Total Price Attch. Do					
The Player's Connection [Ad]	First Offer - \$18.00	18 / each	\$324.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: 3100 Supplier Notes: Delivery after receipt of Purchase Orde 15 business days after artwork approval			e Order::		
Sharp Marketing	First Offer - \$18.02	18 / each	\$324.36		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Adult Nylon Coach's Jac	very after receipt of	Purchase	e Order::		

OPN2116616B101-04 Jackets, Windbreaker: Forest green, Navy Blue, Silkscreen: White 4XL							
Supplier Unit Price Qty/Unit Total Price Attch. Do							
Sharp Marketing	First Offer - \$19.79	8 / each	\$158.32		Υ		
Product Code:		Supplier Product Co	ode: 3100				

OPN2116616B1

	County C	Ommodoricio	Pa	age 2 of 42
Agency Notes:	Supplier Notes: Deli 30 Adult Nylon Coach's Jac	very after receipt of P	urchase Order::	
The Player's Connection [Ad]	First Offer - \$20.00	8 / each	\$160.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 business days after	very after receipt of P	urchase Order::

OPN2116616B101-05 Jackets, Windbreaker style:long cuffed raglan sleeves, Silkscreen, White: S-XL								
Supplier	Unit Price Qty/Unit Total Price Attch.							
The Player's Connection [Ad]	First Offer - \$14.00	7 / each	\$98.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: 3100 Supplier Notes: Delivery after receipt of Purchase Orde 15 business days after artwork approval			e Order::			
Sharp Marketing	First Offer - \$14.50	7 / each	\$101.50		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Adult Nylon Coach's Jac	very after receipt of	Purchase	e Order∷			

OPN2116616B101-06 Unisex Jackets, Red Kap #JP6. Black. Embroidery, Red Kap #JP6: XS - XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sharp Marketing	First Offer - \$52.06	14 / each	\$728.84		Υ		
Product Code: Agency Notes:		Supplier Product Code: JP66 Supplier Notes: Delivery after receipt of Purchase Order 30 Soft Shell Jacket (Regular)					
The Player's Connection [Ad]	First Offer - \$54.00	14 / each	\$756.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::		

OPN2116616B101-07 Unisex Jackets Red Kap #JP6, Black, Embroidery: 2X - 4XL								
Supplier	Unit Price	rice Qty/Unit Total Price Attch. Docs						
Sharp Marketing	First Offer - \$62.65	17 / each	\$1,065.05		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Soft Shell Jacket (Regula	very after receipt of	Purchase	e Order::			
The Player's Connection [Ad]	First Offer - \$66.00	17 / each	\$1,122.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::			

OPN2116616B101-08	Cargo Pant, Red	Kap #PT88, Ease	Fit, Hemmed to Indiv	vidual Request: 28 -4 2	2	
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs

	County C	Ommodonero	Page	Page 3 of 42	
The Player's Connection [Ad]	First Offer - \$20.00	260 / each	\$5,200.00	Y	
Product Code:		Supplier Product Code	: pt88		
Agency Notes:		Supplier Notes: Delive	ry after receipt of Purc	hase Order::	
		15 Business Days from artwork approval			
DMR Creative Marketing LLC	First Offer - \$23.34	260 / each	\$6,068.40	Y	
Product Code:		Supplier Product Code	: LR337		
Agency Notes:		Supplier Notes: Delive	ry after receipt of Purc	hase Order::	
		30 Days			
Sharp Marketing	First Offer - \$27.93	260 / each	\$7,261.80	Υ	
Product Code:		Supplier Product Code	: PT88		
Agency Notes:		Supplier Notes: Delive	ry after receipt of Purc	hase Order::	
		30			
		Price includes hemming			

OPN2116616B101-09 Cargo Pant Hemmed to Individual Request, Red Kap #PT88: 44 - 50.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
The Player's Connection [Ad]	First Offer - \$24.00	50 / each	\$1,200.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: pt88 Supplier Notes: Delivery after receipt of Purchase Order: 15 Business Days from artwork approval						
DMR Creative Marketing LLC	First Offer - \$26.20	50 / each	\$1,310.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days	ode: LR337 very after receipt of	Purchase	e Order::			
Sharp Marketing	First Offer - \$30.28	50 / each	\$1,514.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Price includes hemming	very after receipt of	Purchase	o Order::			

OPN2116616B101-10 Cargo Shorts, Dickies LR337: Navy Blue. Sizes 28 - 42							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sharp Marketing	First Offer - \$20.88	34 / each	\$709.92		Υ		
Product Code: Supplier Product Code: LR337 Agency Notes: Supplier Notes: Delivery after receipt of Purcha 30 11" Industrial Cotton Cargo Short 28 to 42			Purchase	e Order∷			
The Player's Connection [Ad]	First Offer - \$21.25	34 / each	\$722.50		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	e Order::		
DMR Creative Marketing LLC	First Offer - \$24.64	34 / each	\$837.76		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days	ode: LP337 ivery after receipt of	Purchase	e Order::		

OPN2116616B101-11 Cargo Shorts, relaxed fit, wrinkle resistant, Dickies LR337: Navy Blue: 44-50						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Sharp Marketing	First Offer - \$22.94	3 / each	\$68.82		Υ	

1 OPN2116616B1

	County	Commissioners		Page 4 of 42		
Product Code:		Supplier Product Co	ode: LR337			
Agency Notes:		Supplier Notes: Delivery after receipt of Purchase Order:				
		30				
		11" Industrial Cotton Ca	argo Short			
The Player's Connection [Ad]	First Offer - \$23.00	3 / each	\$69.00	Y		
Product Code:		Supplier Product Co				
Agency Notes:			ivery after receipt of	Purchase Order::		
		15 Business Days from	artwork approval			
DMR Creative Marketing LLC	First Offer - \$27.25	3 / each	\$81.75	Y		
Product Code:		Supplier Product Co	ode: LR337			
Agency Notes:		Supplier Notes: Del	ivery after receipt of	Purchase Order::		
		30 Days	•			

OPN2116616B101-12 Men's Cargo Par	its Dickies LP337:	Charcoal, Black, Nav	y, Desert Sand: 28 -4	2	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sharp Marketing	First Offer - \$23.82	227 / each	\$5,407.14		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Industrial Cargo Pant	ode: LP337 very after receipt of	Purchase	e Order:∶
The Player's Connection [Ad]	First Offer - \$24.00	227 / each	\$5,448.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order∷
DMR Creative Marketing LLC	First Offer - \$28.15	227 / each	\$6,390.05		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days	ode: LP337 very after receipt of	Purchase	e Order::

OPN2116616B101-13 Men's Cargo Pants, Dickies LP337. Charcoal, Black, Navy, Desert Sand. 44-60							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sharp Marketing	First Offer - \$26.18	14 / each	\$366.52		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Industrial Cargo Pant		Purchase	e Order::		
The Player's Connection [Ad]	First Offer - \$28.00	14 / each	\$392.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::		
DMR Creative Marketing LLC	First Offer - \$31.00	14 / each	\$434.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days		Purchase	e Order::		

OPN2116616B101-14 Men's Cotton Cargo Pants, Red Kap #PC76: Navy, Khaki: 30 - 42							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
The Player's Connection [Ad]	First Offer - \$21.00	136 / each	\$2,856.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	e Order::		

Sharp Marketing	First Offer - \$31.36	136 / each	\$4,264.96	Υ
Product Code:		Supplier Product C	Code: PC76	
Agency Notes:		Supplier Notes: De	elivery after receipt of	Purchase Order::
		30		

OPN2116616B101-15 Men's Cotton Cargo Pants, Red Kap #PC76: Navy, Khaki. Sizes: 44-50.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
The Player's Connection [Ad]	First Offer - \$25.00	3 / each	\$75.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	e Order::			
Sharp Marketing	First Offer - \$37.65	3 / each	\$112.95		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30	ode: PC76 ivery after receipt of	Purchase	e Order::			

OPN2116616B101-16 Men's Relaxed Cargo pantsPropper #F5252: Green, Sizes: 28 - 42							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
The Player's Connection [Ad]	First Offer - \$27.00	300 / each	\$8,100.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::		
Sharp Marketing	First Offer - \$45.52	300 / each	\$13,656.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Price includes hemming	very after receipt of	Purchase	e Order::		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
The Player's Connection [Ad]	First Offer - \$29.00	58 / each	\$1,682.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del 15 Business Days from	ivery after receipt of	Purchase	e Order:
Sharp Marketing	First Offer - \$45.52	58 / each	\$2,640.16		Υ

OPN2116616B101- 18 Pant, 100% Polyester, Flat Front, Washable, Edwards #2595: Black, 28 - 42							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
The Player's Connection [Ad]	First Offer - \$18.00	22 / each	\$396.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::		
Sharp Marketing	First Offer - \$25.60	22 / each	\$563.20		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Price includes hemming	very after receipt of	Purchase	e Order:∶		

OPN2116616B101- 19 Shorts, Red k	(ap PT26. Color: Navy	Blue, Spruce Green:	28 - 42		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sharp Marketing	First Offer - \$11.75	102 / each	\$1,198.50		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Red Kap - Industrial Wo	ivery after receipt of	Purchase	e Order::
The Player's Connection [Ad]	First Offer - \$12.00	102 / each	\$1,224.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	e Order∷
DMR Creative Marketing LLC	First Offer - \$14.27	102 / each	\$1,455.54		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days	ode: PT26 ivery after receipt of	Purchase	e Order∷

OPN2116616B101-20 Shorts, Polyester/Cotton Red Kap PT26: Navy Blue, Spruce Green: 44 - 50							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sharp Marketing	First Offer - \$15.28	21 / each	\$320.88		Υ		
Product Code:		Supplier Product Co	de: PT26				
Agency Notes:		Supplier Notes: Deli 30 Red Kap - Industrial Wo		Purchase	e Order::		
The Player's Connection [Ad]	First Offer - \$16.00	21 / each	\$336.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::		
DMR Creative Marketing LLC	First Offer - \$18.56	21 / each	\$389.76		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days		Purchase	e Order::		

OPN2116616B101-21 Trousers, Red Ka	ap #PT50, Hemme	d to Individual Reequ	uest, Navy: 28 -42		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
The Player's Connection [Ad]	First Offer - \$16.00	29 / each	\$464.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::
Sharp Marketing	First Offer - \$30.85	29 / each	\$894.65		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Price includes hemming	very after receipt of	Purchase	e Order::

OPN2116616B101-22 Trousers, work, men, Wrinkle Resistant, Red Kap #PC20. Various colors: 30 - 42								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
The Player's Connection [Ad]	First Offer - \$17.95	321 / each	\$5,761.95		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	o Order::			

Sharp Marketing	First Offer - \$35.50	321 / each	\$11,395.50	Υ		
Product Code:		Supplier Product Co	ode: PC20			
Agency Notes:		Supplier Notes: Delivery after receipt of Purchase Order:				
		30				
		Price includes hemming)			

OPN2116616B101- 23 Trousers, Work, Men, Red Kap #PC20: Various colors: 44 - 56								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
The Player's Connection [Ad]	First Offer - \$21.00	47 / each	\$987.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::			
Sharp Marketing	First Offer - \$40.79	47 / each	\$1,917.13		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Price includes hemming	very after receipt of	Purchase	e Order::			

OPN2116616B101-24 Trousers, Work, Men, Relaxed Fit, Wrinkle Resistant, Red Kap#PC20, Navy: 28-42								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
The Player's Connection [Ad]	First Offer - \$18.45	103 / each	\$1,900.35		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	e Order::			
Sharp Marketing	First Offer - \$35.50	103 / each	\$3,656.50		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Price includes hemmino	ivery after receipt of	Purchase	e Order::			

OPN2116616B101-25 Trousers, Work, Men, Red Kap #PC20:Wrinkle Resistant, Navy: 44 - 56									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
The Player's Connection [Ad]	First Offer - \$21.50	8 / each	\$172.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	o Order::				
Sharp Marketing	First Offer - \$40.79	8 / each	\$326.32		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Price includes hemmino	ivery after receipt of	Purchase	e Order::				

OPN2116616B101-26 Trousers, Work, I	Men, Red Kap #PT	20: Ease/Relaxed Fit	, Spruce Green: 28 -4	12	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
The Player's Connection [Ad]	First Offer - \$13.00	184 / each	\$2,392.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::
DMR Creative Marketing LLC	First Offer - \$18.35	184 / each	\$3,376.40		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days		Purchase	e Order::

	-		1 490 0 0	74	
Sharp Marketing	First Offer - \$23.81	184 / each	\$4,381.04	Υ	
Product Code:		Supplier Product Co	ode: PT20		
Agency Notes:	cy Notes: Supplier Notes: Delivery after receipt of Purchase Ord				
		30			
		Price includes hemming			

OPN2116616B101-27 Trousers, Work, Men, Ease/Relaxed Fit, Red Kap #PT20: Spruce Green: 44 - 54								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
The Player's Connection [Ad]	First Offer - \$15.00	23 / each	\$345.00		Υ			
Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order: 15 Business Days from artwork approval						
DMR Creative Marketing LLC	First Offer - \$19.95	23 / each	\$458.85		Υ			
Product Code: Agency Notes:		Supplier Product Code: PT20 Supplier Notes: Delivery after receipt of Purchase Order: 30 Days						
Sharp Marketing	First Offer - \$24.99	23 / each	\$574.77		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Price includes hemmino	ivery after receipt of	Purchase	e Order::			

OPN2116616B101- 28 Trousers, Work, Men Red Kap #PT20: Navy: 28 - 42								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
The Player's Connection [Ad]	First Offer - \$13.95	134 / each	\$1,869.30		Υ			
Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order: 15 Business Days from artwork approval						
DMR Creative Marketing LLC	First Offer - \$18.35	134 / each	\$2,458.90		Υ			
		Supplier Product Code: PT20 Supplier Notes: Delivery after receipt of Purchase Order: 30 Days						
Sharp Marketing	First Offer - \$23.81	134 / each	\$3,190.54		Υ			
Product Code: Agency Notes:		Supplier Product Code: PT20 Supplier Notes: Delivery after receipt of Purchase C 30 Price includes hemming		order::				

OPN2116616B101-29 Trousers, Work, Men, Hemmed, Ease/Relaxed Fit, Red Kap #PT20: Navy: 44 - 56							
Supplier Unit Price Qty/Unit Total Price Attch					Docs		
The Player's Connection [Ad]	First Offer - \$15.00	21 / each	\$315.00		Υ		
		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order:: 15 Business Days from artwork approval					
DMR Creative Marketing LLC	First Offer - \$19.95	21 / each	\$418.95		Υ		
Product Code: Agency Notes:		Supplier Product Code: PT20 Supplier Notes: Delivery after receipt of Purchase Order: 30 Days					
Sharp Marketing	First Offer - \$33.65	21 / each	\$706.65		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30		Purchase	order::		

Price includes hemming

OPN2116616B101- 30 Trousers, Work,	Men, Red Kap #P1	20:Various colors, C	harcoal & Brown: 28	- 42		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
The Player's Connection [Ad]	First Offer - \$13.25	164 / each	\$2,173.00		Υ	
Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order: 15 Business Days from artwork approval				
DMR Creative Marketing LLC	First Offer - \$18.35	164 / each	\$3,009.40		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days		Purchase	e Order∷	
Sharp Marketing	First Offer - \$23.81	164 / each	\$3,904.84		Y	
Product Code: Agency Notes:		Supplier Product Code: PT20 Supplier Notes: Delivery after receipt of Purchase C 30 Price includes hemming		e Order∷		

OPN2116616B101-31 Trousers, Work, Men, Ease/Relaxed, Red Kap #PT20: Various colors, Brown: 44-54							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
The Player's Connection [Ad]	First Offer - \$15.00	53 / each	\$795.00		Υ		
		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order:: 15 Business Days from artwork approval					
DMR Creative Marketing LLC	First Offer - \$19.95	53 / each	\$1,057.35		Υ		
Product Code: Agency Notes:		Supplier Product Code: PT20 Supplier Notes: Delivery after receipt of Purchase Order:: 30 Days					
Sharp Marketing	First Offer - \$24.99	53 / each	\$1,324.47		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Price includes hemmino	very after receipt of	Purchase	o Order::		

OPN2116616B101-32 Ladies Polo, short sleeve, Port Authority Sport Tek #LST650. Various color: S-XL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Sharp Marketing	First Offer - \$12.93	105 / each	\$1,357.65		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Sport-Tek Ladies Micro	ivery after receipt of	Purchase	e Order::			
The Player's Connection [Ad]	First Offer - \$14.00	105 / each	\$1,470.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order:: 15 Business Days from artwork approval						
DMR Creative Marketing LLC	First Offer - \$15.25	105 / each	\$1,601.25		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days	ode: LST650 ivery after receipt of	Purchase	e Order::			

OPN2116616B101-33	Ladies Polo. Port Authority	Sport Tek #LST650.	short sleeve. 2XL - 4XL
-------------------	-----------------------------	--------------------	-------------------------

Exhibit 1 Page 10 of 42

	Page 10 of 42			42	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sharp Marketing	First Offer - \$17.64	20 / each	\$352.80		Υ
Product Code:		Supplier Product Co	ode: LST650		
		Supplier Notes: Deli 30 Sport-Tek Ladies Micro	ivery after receipt of	Purchase	e Order::
DMR Creative Marketing LLC	First Offer - \$18.99	20 / each	\$379.80		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days Price will be less for 2XL	ivery after receipt of	Purchase	o Order::
The Player's Connection [Ad]	First Offer - \$19.00	20 / each	\$380.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order: 15 Business Days from artwork approval			e Order::

OPN2116616B101-34 Men's Polo, Fade, shrink, wrinkle resistant. Edwards #1576. Various colors, S-XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sharp Marketing	First Offer - \$10.00	561 / each	\$5,610.00		Υ		
Product Code: Agency Notes:	Supplier Product Code: 1576 Supplier Notes: Delivery after receipt of Purchase Order: 30 MEN'S HI-PERFORMANCE MESH SHORT SLEEVE POLO						
The Player's Connection [Ad]	First Offer - \$11.00	561 / each	\$6,171.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	e Order::		

OPN2116616B101-35 Men's Polo, Fade, shrink, wrinkle resistant. Edwards #1576, Various colors, 2XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sharp Marketing	First Offer - \$12.00	99 / each	\$1,188.00		Υ		
Product Code: Agency Notes:		30	ode: 1576 ivery after receipt of CE MESH SHORT SLEEVE		e Order∷		
The Player's Connection [Ad]	First Offer - \$14.00	99 / each	\$1,386.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	e Order::		

OPN2116616B101-36 Men's Polo, Fade, shrink, wrinkle resistant. Edwards #1576, Various colours, 3XL-4XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sharp Marketing	First Offer - \$13.01	25 / each	\$325.25		Υ		
Product Code: Agency Notes:		Supplier Product Code: 1576 Supplier Notes: Delivery after receipt of Purchase Orde 30 MEN'S HI-PERFORMANCE MESH SHORT SLEEVE POLO			e Order∷		
The Player's Connection [Ad]	First Offer - \$15.00	25 / each	\$375.00		Υ		
		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order: 15 Business Days from artwork approval					

Exhibit 1	OF
Page 11 of 42	

OPN2116616B101- 37 Men's Polo, 100% Polyester, Edwards #1576, Various colors, 5XL - 6XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sharp Marketing	First Offer - \$15.01	2 / each	\$30.02		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 MEN'S HI-PERFORMANO	very after receipt of		e Order::		
The Player's Connection [Ad]	First Offer - \$17.50	2 / each	\$35.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::		

OPN2116616B101-38 Men's Polo, short sleeve,Port Authority Sport Tek #ST650:Various color, S - XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sharp Marketing	First Offer - \$12.93	175 / each	\$2,262.75		Υ		
Product Code: Agency Notes:		30	ivery after receipt of	Purchase	e Order::		
		Sport-Tek Micropique S	<u> </u>				
The Player's Connection [Ad]	First Offer - \$14.25	175 / each	\$2,493.75		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order: 15 Business Days from artwork approval					
DMR Creative Marketing LLC	First Offer - \$15.23	175 / each	\$2,665.25		Υ		
Agency Notes:		Supplier Product Code: ST650 Supplier Notes: Delivery after receipt of Purchase Order: 30 Days					

OPN2116616B101-39 Men's Polo, Polyester, Tek #ST650, short sleeve, Various colors, 2XL-4XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sharp Marketing	First Offer - \$17.64	49 / each	\$864.36		Υ		
Product Code:		Supplier Product Co	ode: ST650				
Agency Notes:	ency Notes: Supplier Notes: Delivery after receipt of Purch 30			Purchase	Order::		
		Sport-Tek Micropique Sport-Wick Polo					
The Player's Connection [Ad]	First Offer - \$19.00	49 / each	\$931.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order:: 15 Business Days from artwork approval					
DMR Creative Marketing LLC	First Offer - \$20.95	49 / each	\$1,026.55		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days Price for 2XL & 3XL will	ivery after receipt of	Purchase	o Order∷		

OPN2116616B101-40 Men's Polo, Port Authority Tek #ST650, short sleeve, Various colors: 5XL - 6XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sharp Marketing	First Offer - \$21.16	6 / each	\$126.96		Υ		
Product Code:	Supplier Product Code: ST650						
Agency Notes:		Supplier Notes: Delivery after receipt of Purchase Order:					
		30					

nibit 1 OPN2116616B1

			raye iz	2 01 42
	Sport-Tek Micropique Sport-Wick Polo			
The Player's Connection [Ad]	First Offer - \$22.00	6 / each	\$132.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of Purch	ase Order∷
DMR Creative Marketing LLC	First Offer - \$25.15	6 / each	\$150.90	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days Price for 5XL will be che	ivery after receipt of Purch	ase Order::

OPN2116616B101-41 Performance Wov	ven Shirts, Bimini	Flats II, Long Sleeve	: Stone, S -XL		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
The Player's Connection [Ad]	First Offer - \$24.00	108 / each	\$2,592.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::
Sharp Marketing	First Offer - \$40.00	108 / each	\$4,320.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Bimini Bay Bimini Flats I	very after receipt of	Purchase	e Order::

OPN2116616B101- 42 Performance Wo	ven Shirts, Long S	leeve: Color Stone, 2	2XL		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
The Player's Connection [Ad]	First Offer - \$24.00	14 / each	\$336.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::
Sharp Marketing	First Offer - \$41.18	14 / each	\$576.52		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Bimini Bay Bimini Flats I	very after receipt of	Purchase	e Order∷

OPN2116616B101-43 Performance Woven Shirts, 21656. Bimini Flats II Shirt, Long Sleeve, Stone, 3XL					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
The Player's Connection [Ad]	First Offer - \$27.00	15 / each	\$405.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	e Order::
Sharp Marketing	First Offer - \$45.87	15 / each	\$688.05		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Bimini Bay Bimini Flats I	ivery after receipt of	Purchase	e Order∷

OPN2116616B101-44 Performance Woven Shirts, Bimini Flats II Shirt, Short Sleeve: Stone, S -XL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
The Player's Connection [Ad]	First Offer - \$24.00	145 / each	\$3,480.00		Υ	

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order 15 Business Days from artwork approval				
Sharp Marketing	First Offer - \$35.28	145 / each	\$5,115.60	Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Bimini Bay Bimini Flats I	very after receipt of F	Purchase Order::		

OPN2116616B101-45 Performance Wov	ven Shirts, Short S	leeve, Stone: 2XL			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
The Player's Connection [Ad]	First Offer - \$24.00	31 / each	\$744.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::
Sharp Marketing	First Offer - \$35.28	31 / each	\$1,093.68		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Bimini Bay Bimini Flats I	very after receipt of	Purchase	e Order::

OPN2116616B101- 46 Performance Wo	ven Shirts, Short S	leeve, Stone: 3XL			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
The Player's Connection [Ad]	First Offer - \$27.00	17 / each	\$459.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::
Sharp Marketing	First Offer - \$35.28	17 / each	\$599.76		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Bimini Bay Bimini Flats	very after receipt of	Purchase	e Order::

OPN2116616B101-47 Polo, 100% Cotton Mesh/Pique with Left Chest Pocket, Various colors: S-XL					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sharp Marketing	First Offer - \$11.32	66 / each	\$747.12		Υ
Product Code: Agency Notes:		30	ode: WP7002 ivery after receipt of ket Mainsail Pique Sport		e Order::
DMR Creative Marketing LLC	First Offer - \$13.75	66 / each	\$907.50		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days	ode: WP7002 ivery after receipt of	Purchase	e Order::
The Player's Connection [Ad]	First Offer - \$14.00	66 / each	\$924.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	e Order::

OPN2116616B101-48	Polo, Cotton Me	sh/Pique with Left	Chest Pocket, Variou	us colors: 2XL -3XL		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs

County Co		Commissioners Page 14		age 14 of 42
Sharp Marketing	First Offer - \$11.76	11 / each	\$129.36	Υ
Product Code:		Supplier Product Co	ode: WP7002	
Agency Notes:		Supplier Notes: Del	ivery after receipt of	Purchase Order::
		Inner Harbor Adult Poc	ket Mainsail Pique Sport	Shirt
The Player's Connection [Ad]	First Offer - \$16.00	11 / each	\$176.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes: Del 15 Business Days from	ivery after receipt of artwork approval	Purchase Order::
DMR Creative Marketing LLC	First Offer - \$17.95	11 / each	\$197.45	Y
Product Code:		Supplier Product Co	ode: Wp7002	
Agency Notes:		Supplier Notes: Del	ivery after receipt of	Purchase Order::
		30 Days		
		2XL will be cheaper		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sharp Marketing	First Offer - \$5.85	12 / each	\$70.20		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del 30 ComfortSoft Women's	ivery after receipt of	Purchase	e Order:
The Player's Connection [Ad]	First Offer - \$11.00	12 / each	\$132.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del 15 Business Days from	ivery after receipt of	Purchase	e Order:

OPN2116616B101-50 Polo, 100% Ring Spun Cotton Pique, Gildan #G380: S - XL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Sharp Marketing	First Offer - \$5.32	5 / each	\$26.60		Υ				
Product Code: Agency Notes:		30	ode: G3800 livery after receipt of Purchase Orde						
DMR Creative Marketing LLC	First Offer - \$5.34	5 / each	\$26.70		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days	Ψ20.70						
The Player's Connection [Ad]	First Offer - \$11.00	5 / each	\$55.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Orde 15 Business Days from artwork approval			o Order::				

OPN2116616B101-51 Polo, 100% Ring Spun Cotton Pique: Various colors, 2XL - 4XL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Sharp Marketing	First Offer - \$7.47	2 / each	\$14.94		Υ			
Product Code:		Supplier Product Code: G3800						
Agency Notes:		Supplier Notes: Deli	ivery after receipt of	Purchase	e Order::			
		30						
		Gildan Ultra CottonÃ,Â	® Adult Pique Sport Shir	t				
The Player's Connection [Ad]	First Offer - \$14.00	2 / each	\$28.00		Υ			
Product Code:		Supplier Product Co	ode:					

Exhibit 1 Page 15 of 42

Agency Notes:

Supplier Notes: Delivery after receipt of Purchase Order::

15 Business Days from artwork approval

OPN2116616B101-52 Polo, 50/50 Cotton/Poly Jersey, Gildan #G890, Varous colors: S - XL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
DMR Creative Marketing LLC	First Offer - \$7.65	50 / each	\$382.50		Υ	
Product Code:		Supplier Product Co	ode: G890			
Agency Notes:		Supplier Notes: Deli 30 Days	very after receipt of	Purchase	Order::	
Sharp Marketing	First Offer - \$8.21	50 / each	\$410.50		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli	, , , , , ,		Order::	
		* *	50/50 Jersey Polo with P	ocket		
The Player's Connection [Ad]	First Offer - \$9.00	50 / each	\$450.00		Υ	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes: Delivery after receipt of Purchase O		Order::		
		15 Business Days from artwork approval				

OPN2116616B101- 53 Polo, 50/50 Cotton/Poly Jersey, Gildan #G890, various colors: 2XL - 4XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
DMR Creative Marketing LLC	First Offer - \$10.75	10 / each	\$107.50		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days 2XL & 3XI will be cheape	very after receipt of	Purchase	e Order::		
Sharp Marketing	First Offer - \$12.47	10 / each	\$124.70		Υ		
Product Code: Agency Notes:		30	ode: G890 very after receipt of 50/50 Jersey Polo with F		e Order∷		
The Player's Connection [Ad]	First Offer - \$14.00	10 / each	\$140.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::		

OPN2116616B101-54 Polo,65% Polyester/ 35% Cotton Pique, Long-Sleeve Polo Shirt: White, S - XL.						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Sharp Marketing	First Offer - \$12.93	6 / each	\$77.58		Υ	
Product Code: Agency Notes:		Supplier Product Co	ode: K500LS ivery after receipt of	Purchase	Order	
Agency Notes.		30 Port Authority Silk Touc	·	Turchase	oruer	
The Player's Connection [Ad]	First Offer - \$14.95	6 / each	\$89.70		Υ	
Product Code: Agency Notes:		• •				
DMR Creative Marketing LLC	First Offer - \$15.25	6 / each	\$91.50		Υ	
Product Code: Agency Notes:		Supplier Product Code: K500LS Supplier Notes: Delivery after receipt of Purchase Order: 30 Days				

Exhibit 1 Page 16 of 42

DPN2116616B101-55 Polo,65% Polyester/35% Cotton Pique, Long-Sleeve Polo Shirt: White, 2XL-4XL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Sharp Marketing	First Offer - \$17.64	1 / each	\$17.64		Υ	
Product Code: Agency Notes:		Supplier Product Code: K500LS Supplier Notes: Delivery after receipt of Purchase O 30 Port Authority Silk Touch Long Sleeve Polo			e Order::	
The Player's Connection [Ad]	First Offer - \$19.00	1 / each	\$19.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase (15 Business Days from artwork approval		e Order::		
DMR Creative Marketing LLC	First Offer - \$20.99	1 / each	\$20.99		Υ	
Product Code: Agency Notes:		Supplier Product Code: K500LS Supplier Notes: Delivery after receipt of Purchase Order 30 Days 2XL-3XL will be cheaper			e Order::	

OPN2116616B101-56 Polo,65% Polyester/ 35% Cotton Pique, Long-Sleeve, Various Colors: S-XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sharp Marketing	First Offer - \$12.93	7 / each	\$90.51		Υ		
Product Code:		Supplier Product Co	de: K500LS				
Agency Notes:		Supplier Notes: Delivery after receipt of Purchase C			Order::		
		Port Authority Silk Touc	h Long Sleeve Polo				
The Player's Connection [Ad]	First Offer - \$15.00	7 / each	\$105.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:			lier Notes: Delivery after receipt of Purchase Or siness Days from artwork approval				
DMR Creative Marketing LLC	First Offer - \$15.25	7 / each	\$106.75		Υ		
Product Code:	•	Supplier Product Co	de: K500LS				
Agency Notes:		Supplier Notes: Deli 30 Days	very after receipt of	Purchase	Order::		

OPN2116616B101-57 Polo,65% Polyes	OPN2116616B101-57 Polo,65% Polyester 35% Cotton Pique, Long-Sleeve, Various Colors: 2XL - 4XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Sharp Marketing	First Offer - \$15.28	6 / each	\$91.68		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Port Authority Silk Touc	very after receipt of	Purchase	e Order∷			
The Player's Connection [Ad]	First Offer - \$18.95	6 / each	\$113.70		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::			
DMR Creative Marketing LLC	First Offer - \$20.95	6 / each	\$125.70		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days	ode: K500LS very after receipt of	Purchase	order::			

OPN2116616B101-58 Shirt, 65% Polyester/35% Cotton Blend, Short Sleeve, White: S-XL						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs

			Page 17 of 42		
Sharp Marketing	First Offer - \$13.13	26 / each	\$341.38	Υ	
Product Code:		Supplier Product Co	ode: 1110		
Agency Notes:		Supplier Notes: Delivery after receipt of Purchase Order:			
		30			
		MEN'S 2-POCKET BROA	DCLOTH SHORT SLEEVE SHIRT		
The Player's Connection [Ad]	First Offer - \$15.00	26 / each	\$390.00	Υ	
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes: Deli	ivery after receipt of Purch	ase Order::	
		15 Business Days from	artwork approval		

OPN2116616B101-59 Shirt, Polyester/Cotton Blend, Long Sleeve, Edwards #1160, White: S - XL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Sharp Marketing	First Offer - \$14.25	15 / each	\$213.75		Υ			
Product Code:		Supplier Product Code: 1160						
Agency Notes:		Supplier Notes: Delivery after receipt of Purchase Order						
		30						
		MEN'S 2-POCKET BROA	DCLOTH LONG SLEEVE	SHIRT				
The Player's Connection [Ad]	First Offer - \$16.00	15 / each	\$240.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes: Deli	ivery after receipt of	Purchase	Order::			
		15 Business Days from	artwork approval					

OPN2116616B101-60 Shirt, Polyester/Cotton Blend, Long Sleeve. Edwards #1160, White: 2XL - 4XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
The Player's Connection [Ad]	First Offer - \$21.00	8 / each	\$168.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Orde 15 Business Days from artwork approval			e Order::		
Sharp Marketing	First Offer - \$21.38	8 / each	\$171.04		Υ		
Product Code: Agency Notes:		30	ode: 1160 very after receipt of DCLOTH LONG SLEEVE		e Order::		

OPN2116616B101-61 Shirt, Jersey Golf, Cotton/Polyester, Jerzees #436MP, White: S - XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sharp Marketing	First Offer - \$7.38	41 / each	\$302.58		Υ		
Product Code: Agency Notes:		Supplier Product Code: 436MP Supplier Notes: Delivery after receipt of Purchase Order:: 30 JERZEES - SpotShield 5.6 - Ounce Jersey Knit Sport Shirt with Pocket					
The Player's Connection [Ad]	First Offer - \$8.00	41 / each	\$328.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order:: 15 Business Days from artwork approval					
DMR Creative Marketing LLC	First Offer - \$8.99	41 / each	\$368.59		Υ		
Agency Notes:		Supplier Product Code: 436MP Supplier Notes: Delivery after receipt of Purchase Orde 30 Days			Order::		

OPN2116616B101-62	Shirt, Cotton/Polyester, Jerzees #436MP, Various colors: S - XL					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs

Broward County Board of County Commissioners

	County C	Commissioners	Page 1	8 of 42
The Player's Connection [Ad]	First Offer - \$8.00	81 / each	\$648.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of Purc	hase Order::
Sharp Marketing	First Offer - \$8.71	81 / each	\$705.51	Y
Product Code: Agency Notes:		30	ode: 436MP ivery after receipt of Purc 6-Ounce Jersey Knit Sport Shirt	
DMR Creative Marketing LLC	First Offer - \$10.65	81 / each	\$862.65	Υ
Product Code: Agency Notes:		Supplier Product Code: 436MP Supplier Notes: Delivery after receipt of Purchase Order 30 Days		

OPN2116616B101-63 Shirt, Cotton/Polyester, Jerzees #436MP. Welt Knit collar, White, 2XL - 4XL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Sharp Marketing	First Offer - \$9.40	1 / each	\$9.40		Υ	
Product Code: Agency Notes:		30	ode: 436MP ivery after receipt of -Ounce Jersey Knit Spor			
DMR Creative Marketing LLC	First Offer - \$9.99	1 / each	\$9.99		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days	ode: 436MP ivery after receipt of	Purchase	e Order∷	
The Player's Connection [Ad]	First Offer - \$11.00	1 / each	\$11.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	e Order::	

OPN2116616B101-64 Shirt, Jersey Golf, Cotton/Polyester: Various colors: 2X - 4XL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Sharp Marketing	First Offer - \$10.33	84 / each	\$867.72		Υ	
Product Code: Agency Notes:	Supplier Product Code: 436MP Supplier Notes: Delivery after receipt of Purchase Order:: 30 JERZEES - SpotShield 5.6 - Ounce Jersey Knit Sport Shirt with Pocket					
DMR Creative Marketing LLC	First Offer - \$12.54	84 / each	\$1,053.36		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days	ode: 436MP very after receipt of	Purchase	Order::	
The Player's Connection [Ad]	First Offer - \$14.00	84 / each	\$1,176.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order 15 Business Days from artwork approval				

OPN2116616B101-65 Shirt, Work, Cotton Twill, Wrinkle Resist Long Sleeve. Red Kap #SC30: White, S-XL						
Supplier	Qty/Unit	Total Price	Attch.	Docs		
The Player's Connection [Ad]	First Offer - \$16.00	47 / each	\$752.00		Υ	

			Page 18	0142
Product Code:		Supplier Product Code		
Agency Notes:		Supplier Notes: Delive	ery after receipt of Purch	ase Order::
		15 Business Days from an	twork approval	
Sharp Marketing	First Offer - \$21.42	47 / each	\$1,006.74	Υ
Product Code:		Supplier Product Code	e: SC30	
Agency Notes:		Supplier Notes: Delive	ery after receipt of Purch	ase Order::
		30		
		Long Sleeve Uniform Shirt		

OPN2116616B101-66 Shirt, Work, 100% Cotton Twil, Wrinkle Resistant, Long Sleeve: Orange, S-XL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
The Player's Connection [Ad]	First Offer - \$16.00	133 / each	\$2,128.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Ord 15 Business Days from artwork approval			e Order::		
Sharp Marketing	First Offer - \$23.55	133 / each	\$3,132.15		Υ	
Product Code: Agency Notes:		Supplier Product Code: SC30 Supplier Notes: Delivery after receipt of Purchase Order: 30 Long Sleeve Uniform Shirt				

OPN2116616B101-67 Shirt, Work, 100% Cotton, Red Kap #SC30, Long Sleeve: Various colors, S - XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
The Player's Connection [Ad]	First Offer - \$16.00	38 / each	\$608.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Or 15 Business Days from artwork approval			e Order::		
Sharp Marketing	First Offer - \$21.42	38 / each	\$813.96		Υ		
Product Code: Agency Notes:	Supplier Product Code: SC30 Supplier Notes: Delivery after receipt of Purchase 30 Long Sleeve Uniform Shirt		e Order::				

OPN2116616B101- 68 Shirt, Work, 100% Cotton, Long Sleeve, Red Kap #SC30: White, 2XL- 3XL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
The Player's Connection [Ad]	First Offer - \$19.00	32 / each	\$608.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order 15 Business Days from artwork approval			e Order::	
Sharp Marketing	First Offer - \$25.73	32 / each	\$823.36		Υ	
Product Code: Agency Notes:		Supplier Product Code: SC30 Supplier Notes: Delivery after receipt of Purchase Order: 30 Long Sleeve Uniform Shirt				

OPN2116616B101-69 Shirt, Work, 100% Cotton, Long Sleeve, Red Kap SC30, Orange 2XL - 3XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
The Player's Connection [Ad]	First Offer - \$19.00	45 / each	\$855.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::		

	County C	Commissioners	!	Page 20 of 42
Sharp Marketing	First Offer - \$25.73	45 / each	\$1,157.85	Υ
Product Code:		Supplier Product Co	ode: SC30	
Agency Notes:		Supplier Notes: Del	ivery after receipt of	Purchase Order::
		30		
		Long Sleeve Uniform S	hirt	

OPN2116616B101-70 Shirt, Work, 100% Cotton, Long Sleeve, Wrinkle Resistant, Various Colors. 3XL-4XL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
The Player's Connection [Ad]	First Offer - \$20.00	9 / each	\$180.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::			
Sharp Marketing	First Offer - \$25.73	9 / each	\$231.57		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Long Sleeve Uniform Sl	very after receipt of	Purchase	e Order::			

OPN2116616B101-71 Shirt, Work, 100% Cotton, Short Sleeve, Red Kap #SC40, White: S-XL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
The Player's Connection [Ad]	First Offer - \$14.00	38 / each	\$532.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::				
Sharp Marketing	First Offer - \$21.20	38 / each	\$805.60		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Short Sleeve Uniform S	very after receipt of	Purchase	e Order::				

OPN2116616B101-72 Shirt, Work, WrinkleResis Cotton Twill, Short Sleeve, Red Kap#SC40, Orange, S-XL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
The Player's Connection [Ad]	First Offer - \$14.00	39 / each	\$546.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	o Order::				
Sharp Marketing	First Offer - \$21.20	39 / each	\$826.80		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Short Sleeve Uniform Sl	very after receipt of	Purchase	o Order::				

OPN2116616B101-73 Shirt, Work, 100% Cotton, 6 oz., Short Sleeve, various colors S - XL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
The Player's Connection [Ad]	First Offer - \$14.00	30 / each	\$420.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	o Order::				
Sharp Marketing	First Offer - \$21.20	30 / each	\$636.00		Υ				
Product Code:		Supplier Product Co	ode: SC40						

30

Short Sleeve Uniform Shirt

OPN2116616B101-74 Shirt, Work, Cotton, Red Kap #SC40, Short Sleeve, White, 2XL - 3XL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
The Player's Connection [Ad]	First Offer - \$17.50	12 / each	\$210.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	order::				
Sharp Marketing	First Offer - \$23.14	12 / each	\$277.68		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Short Sleeve Uniform S	ivery after receipt of	Purchase	e Order:∶				

OPN2116616B101-75 Shirt, Work, Cotton Twill, Short Sleeve: Red Kap #SC40, Orange, 2XL-3XL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
The Player's Connection [Ad]	First Offer - \$17.50	25 / each	\$437.50		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::				
Sharp Marketing	First Offer - \$25.45	25 / each	\$636.25		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Short Sleeve Uniform S	very after receipt of	Purchase	o Order∷				

OPN2116616B101-76 Shirt, Work, Cotton, Short Sleeve, Various colors, Red Kap #SC40, 2XL-3XL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
The Player's Connection [Ad]	First Offer - \$17.50	17 / each	\$297.50		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::				
Sharp Marketing	First Offer - \$25.45	17 / each	\$432.65		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Short Sleeve Uniform S	very after receipt of	Purchase	e Order::				

OPN2116616B101- 77 Shirt, Work, 100% Cotton, Short sleeve, Red Kap #SC40, White, 5XL - 6XL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Sharp Marketing	First Offer - \$25.45	11 / each	\$279.95		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del 30	, , , , , ,						
		Short Sleeve Uniform S	hirt						
The Player's Connection [Ad]	First Offer - \$28.00	11 / each	\$308.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del	ode: ivery after receipt of	Purchase	e Order::				

15 Business Days from artwork approval

OPN2116616B101-78 Shirt, Work, Polyester/Cotton, Short Sleeve, Red Kap #SP24, White, S - XL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
The Player's Connection [Ad]	First Offer - \$9.75	35 / each	\$341.25		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::				
Sharp Marketing	First Offer - \$11.16	35 / each	\$390.60		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Red Kap - Short Sleeve	very after receipt of	Purchase	e Order∷				
DMR Creative Marketing LLC	First Offer - \$13.60	35 / each	\$476.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days	ode: SP24 very after receipt of	Purchase	e Order::				

OPN2116616B101-79 Shirt, Work, 65% Polyester, Short Sleeve, Red Kap#SP24, Orange. S - XL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
The Player's Connection [Ad]	First Offer - \$10.00	24 / each	\$240.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	e Order::				
Sharp Marketing	First Offer - \$11.16	24 / each	\$267.84		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Red Kap - Short Sleeve	ivery after receipt of	Purchase	e Order::				

OPN2116616B101-80 Shirt, Work, Polyester/Cotton, short sleeve, Red Kap #SP24, Various colors, S-XL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
The Player's Connection [Ad]	First Offer - \$10.00	99 / each	\$990.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order 15 Business Days from artwork approval			e Order::				
Sharp Marketing	First Offer - \$11.16	99 / each	\$1,104.84		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Red Kap - Short Sleeve	very after receipt of	Purchase	e Order::				
DMR Creative Marketing LLC	First Offer - \$13.65	99 / each	\$1,351.35		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days		Purchase	e Order::				

OPN2116616B101-81 Shirt, Work, Polyester/Cotton, Short Sleeve, Red Kap#SP24, Various colors: 2XL-4X								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
The Player's Connection [Ad]	First Offer - \$12.00	37 / each	\$444.00		Υ			
Product Code:		Supplier Product Co						
Agency Notes:		Supplier Notes: Deli	ivery after receipt of	Purchase	order::			

OPN2116616B1

	County Commissioners		Page 23 of 42		
		15 Business Days from	artwork approval		
Sharp Marketing	First Offer - \$13.52	37 / each	\$500.24	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del 30 Red Kap - Short Sleeve	ivery after receipt of Pur	chase Order::	
DMR Creative Marketing LLC	First Offer - \$16.50	37 / each	\$610.50	Y	
		Supplier Product Code: SP24 Supplier Notes: Delivery after receipt of Purchase Order 30 Days			

OPN2116616B101-82 Shirt, Work, 6	5% Polyester/35%Co	tton, short sleeve, R	ed Kap#SP24 White,	2XL -4XL	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
The Player's Connection [Ad]	First Offer - \$12.00	43 / each	\$516.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order: 15 Business Days from artwork approval			
Sharp Marketing	First Offer - \$13.52	43 / each	\$581.36		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes: Del 30 Red Kap - Short Sleeve	livery after receipt of	Purchase	e Order:
DMR Creative Marketing LLC	First Offer - \$16.50	43 / each	\$709.50		Υ
Product Code: Agency Notes:		Supplier Product Code: SP24 Supplier Notes: Delivery after receipt of Purchase Orde 30 Days			e Order:

OPN2116616B101-83 Shirt, Work, Polyester, Red Kap #SP24, Short Sleeve, Orange. 2XL - 4XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
The Player's Connection [Ad]	First Offer - \$13.00	20 / each	\$260.00		Υ		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order: 15 Business Days from artwork approval						
Sharp Marketing	First Offer - \$13.52	20 / each	\$270.40		Υ		
Agency Notes:		Supplier Product Code: SP24 Supplier Notes: Delivery after receipt of Purchase Order:: 30 Red Kap - Short Sleeve Industrial Work Shirt					

OPN2116616B101-84 Shirt, Work, Poly	ester/Cotton, Long	Sleeve, Red Kap #S	SP14, White, S -XL			
Supplier	Unit Price	e Qty/Unit Total Price Attch. Docs				
Sharp Marketing	First Offer - \$12.34	55 / each	\$678.70		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Red Kap - Long Sleeve	very after receipt of	Purchase	e Order::	
The Player's Connection [Ad]	First Offer - \$13.00	55 / each	\$715.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order: 15 Business Days from artwork approval				
DMR Creative Marketing LLC	First Offer - \$14.99	55 / each	\$824.45		Υ	
Product Code:		Supplier Product Co	ode: SP14			

Agency Notes:

| Supplier Notes: Delivery after receipt of Purchase Order:: 30 Days

OPN2116616B101-85 Shirt, Work, Polyester/Cotton, Long Sleeve, Red Kap #SP14, Orange: S - XL					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
DMR Creative Marketing LLC	First Offer - \$11.99	108 / each	\$1,294.92		Υ
Agency Notes:		Supplier Product Code: SP14 Supplier Notes: Delivery after receipt of Purchase Order: 30 Days			
The Player's Connection [Ad]	First Offer - \$14.00	108 / each	\$1,512.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order: 15 Business Days from artwork approval			
Sharp Marketing	First Offer - \$15.78	108 / each	\$1,704.24		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Industrial Long Sleeve V	ivery after receipt of	Purchase	e Order::

OPN2116616B101-86 Shirt, Work, Polyester/Cotton, Long Sleeve, Red Kap #SP14, Various colors, S-XL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Sharp Marketing	First Offer - \$12.34	42 / each	\$518.28		Υ	
Product Code: Agency Notes:	Supplier Product Code: SP14 Supplier Notes: Delivery after receipt of Purchase Order:: 30 Red Kap - Long Sleeve Industrial Work Shirt.					
The Player's Connection [Ad]	First Offer - \$14.00	42 / each	\$588.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order: 15 Business Days from artwork approval				
DMR Creative Marketing LLC	First Offer - \$14.99	42 / each	\$629.58		Υ	
Product Code: Agency Notes:		Supplier Product Code: SP14 Supplier Notes: Delivery after receipt of Purchase Order 30 Days				

OPN2116616B101-87 Shirt, Work, Polyester/Cotton, Long Sleeve. Red Kap #SP14, White, 2XL-4XL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Sharp Marketing	First Offer - \$14.69	36 / each	\$528.84		Υ	
Agency Notes:		Supplier Product Code: SP14 Supplier Notes: Delivery after receipt of Purchase Order: 30 Red Kap - Long Sleeve Industrial Work Shirt.				
The Player's Connection [Ad]	First Offer - \$15.00	36 / each	\$540.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order: 15 Business Days from artwork approval				
DMR Creative Marketing LLC	First Offer - \$17.85	36 / each	\$642.60		Υ	
Product Code: Agency Notes:		Supplier Product Code: SP14 Supplier Notes: Delivery after receipt of Purchase Order 30 Days				

Exhibit 1 Page 25 of 42

OPN2116616B101-88 Shirt, Work, Polyester/Cotton, Long Sleeve. Red Kap #SP14, Orange, 2XL - 4XL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
DMR Creative Marketing LLC	First Offer - \$14.35	76 / each	\$1,090.60		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days 2XL-3XL CHEAPER	ode: SP14 ivery after receipt of	Purchase	e Order::	
The Player's Connection [Ad]	First Offer - \$16.00	76 / each	\$1,216.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order: 15 Business Days from artwork approval				
Sharp Marketing	First Offer - \$18.93	76 / each	\$1,438.68		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Red Kap - Long Sleeve	ivery after receipt of	Purchase	e Order::	

OPN2116616B101-89 Shirt, Work, Polyester/Cotton, Long Sleeve, Red Kap#SP14, Various colors, 2XL-4XL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
The Player's Connection [Ad]	First Offer - \$14.00	20 / each	\$280.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes: Deli	ivery after receipt of	Purchase	order::	
		15 Business Days from	artwork approval			
	T			1		
Sharp Marketing	First Offer - \$14.69	20 / each	\$293.80		Υ	
Product Code:		Supplier Product Code: SP14				
Agency Notes:		Supplier Notes: Deli	ivery after receipt of	Purchase	e Order∷	
		30				
	1.1	Red Kap - Long Sleeve	Industrial Work Shirt.			
DMR Creative Marketing LLC	First Offer - \$17.85	20 / each	\$357.00		Υ	
Product Code:		Supplier Product Co	ode: SP14			
Agency Notes:		Supplier Notes: Deli	ivery after receipt of	Purchase	order::	
		30 Days				

OPN2116616B101-90 Shirt, Work, Polyester/Cotton, Long Sleeve, Red Kap #SP14, White, 5XL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Sharp Marketing	First Offer - \$14.69	3 / each	\$44.07		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Red Kap - Long Sleeve	very after receipt of	Purchase	e Order∷	
The Player's Connection [Ad]	First Offer - \$17.00	3 / each	\$51.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order: 15 Business Days from artwork approval				
DMR Creative Marketing LLC	First Offer - \$17.85	3 / each	\$53.55		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days	ode: SP14 very after receipt of	Purchase	e Order::	

OPN2116616B101- 91	100% Cotton, 6 oz. Preshrunk Jer	sey knit, White. Sizes	s: Small thru X -Large

	Page 26 of 42			42		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
DMR Creative Marketing LLC	First Offer - \$3.25	160 / each	\$520.00		Υ	
Agency Notes:		Supplier Product Code: G2200 Supplier Notes: Delivery after receipt of Purchase Order:: 30 Days				
Sharp Marketing	First Offer - \$3.76	160 / each	\$601.60		Υ	
Product Code: Agency Notes:		Supplier Product Code: 2200 Supplier Notes: Delivery after receipt of Purchase Order: 30 Gildan · Ultra Cotton Tank Top				
The Player's Connection [Ad]	First Offer - \$4.00	160 / each	\$640.00		Υ	
Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order: 15 Business Days from artwork approval				

OPN2116616B101-92 T-Shirt, 100 % Cotton, Heavyweight, Long Sleeve, Tan. Sizes: S thru XL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
DMR Creative Marketing LLC	First Offer - \$4.25	180 / each	\$765.00		Υ			
Product Code: Supplier Product Code: PC61LS Agency Notes: Supplier Notes: Delivery after r 30 Days			Purchase	Order::				
The Player's Connection [Ad]	First Offer - \$4.95	180 / each	\$891.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	Order::			
Sharp Marketing	First Offer - \$6.67	180 / each	\$1,200.60		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Port & Company - Long	very after receipt of	Purchase	Order::			

OPN2116616B101-93 T-Shirt, 100 % Co	tton, Heavyweigh	t, Long Sleeve, Tan.	Sizes: XX-Large		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
DMR Creative Marketing LLC	First Offer - \$6.25	12 / each	\$75.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days	ode: PC61LS ivery after receipt of	Purchase	Order::
Sharp Marketing	First Offer - \$8.49	12 / each	\$101.88		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30	ode: PC61LS ivery after receipt of	Purchase	Order::
		Port & Company - Long	Sleeve Essential Tee.		
The Player's Connection [Ad]	First Offer - \$9.25	12 / each	\$111.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	Order::

OPN2116616B101-94 T-Shirt, 100 % Cotton, Heavyweight, Long Sleeve, Tan. Size XXX-Large								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
DMR Creative Marketing LLC	First Offer - \$6.50	6 / each	\$39.00		Υ			
Product Code:		Supplier Product Code: PC61LS						

Supplier Notes: Delivery after receipt of Purchase Order::

15 Business Days from artwork approval

	Commissioners	Page 2	27 of 42		
Agency Notes:		Supplier Notes: Dell 30 Days	ivery after receipt of Purc	chase Order::	
Sharp Marketing	First Offer - \$8.86	6 / each	\$53.16	Υ	
Product Code: Agency Notes:		Supplier Product Code: PC61LS Supplier Notes: Delivery after receipt of Purchase Orde 30 Port & Company - Long Sleeve Essential Tee.			
The Player's Connection [Ad]	First Offer - \$10.00	6 / each	\$60.00	Y	
Product Code:		Supplier Product Co	ode:		

Agency Notes:

OPN2116616B101-95 T-Shirt, 100 % Cotton, Heavyweight, Long Sleeve, Tan. XXXX-Large								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
DMR Creative Marketing LLC	First Offer - \$6.50	8 / each	\$52.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days	ode: PC61LS ivery after receipt of	Purchase	e Order:∶			
Sharp Marketing	First Offer - \$8.98	8 / each	\$71.84		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Port & Company - Long	ivery after receipt of	Purchase	e Order:			
The Player's Connection [Ad]	First Offer - \$10.75	8 / each	\$86.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	e Order∷			

OPN2116616B101-96 T-Shirt, 100 % Open End Cotton Jersey, Long Sleeve, White. Small thru XL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
DMR Creative Marketing LLC	First Offer - \$6.50	114 / each	\$741.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days		Purchase	Order::			
Sharp Marketing	First Offer - \$6.88	114 / each	\$784.32		Υ			
Product Code: Agency Notes:		30	ode: 2410 very after receipt of 0% Cotton Long Sleeve					
The Player's Connection [Ad]	First Offer - \$8.50	114 / each	\$969.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	Order::			

OPN2116616B101-97 T-Shirt, 100 % Open End Cotton Jersey, Long Sleeve, Various colors, Small -XL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
DMR Creative Marketing LLC	First Offer - \$7.85	734 / each	\$5,761.90		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days	de: G2410 very after receipt of	Purchase	Order::			

County Co		County Commissioners		Page 28 of	42
Sharp Marketing	First Offer - \$8.12	734 / each	\$5,960.08		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30	ode: 2410 ivery after receipt of	Purchase	Order::
		Gildan - Ultra Cotton 10	0% Cotton Long Sleeve	T-Shirt with	Pocket
The Player's Connection [Ad]	First Offer - \$9.00	734 / each	\$6,606.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	Order::

OPN2116616B101-98 T-Shirt, 100 % Open End Cotton Jersey, , Long Sleeve, White. 2X thru 4XL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Sharp Marketing	First Offer - \$8.96	97 / each	\$869.12		Υ			
Product Code:		Supplier Product Co	ode: 2410					
Agency Notes:		30	very after receipt of					
		Gildan - Ultra Cotton 10	0% Cotton Long Sleeve	T-Shirt with	n Pocket			
The Player's Connection [Ad]	First Offer - \$9.75	97 / each	\$945.75		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	order::			
DMR Creative Marketing LLC	First Offer - \$10.50	97 / each	\$1,018.50		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days 2X-3XL Will be Cheaper	ode: G2410 very after receipt of	Purchase	e Order∷			

OPN2116616B101-99 T-Shirt, 10	U % Open End Cotton, Lo	ong Sieeve, Various	COIORS ZXL-4XL-		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sharp Marketing	First Offer - \$10.24	430 / each	\$4,403.20		Υ
Product Code:		Supplier Product C	ode: 2410		
Agency Notes:		30	livery after receipt of 00% Cotton Long Sleeve		
The Player's Connection [Ad]	First Offer - \$10.75	430 / each	\$4,622.50		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes: De 15 Business Days from	livery after receipt of	Purchase	e Order∷
DMR Creative Marketing LLC	First Offer - \$11.95	430 / each	\$5,138.50		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes: De 30 Days	ode: G2410 livery after receipt of	Purchase	e Order::

OPN2116616B101-100 T-Shirt, 100% Open End Cotton, Short Sleeve, White, S thru XL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Sharp Marketing	First Offer - \$4.14	163 / each	\$674.82		Υ			
Product Code:		Supplier Product Co	ode: 2300					
Agency Notes:		Supplier Notes: Deli	very after receipt of	Purchase	Order::			
		30						
		Gildan - Ultra Cotton 10	0% Cotton T-Shirt with F	Pocket				
DMR Creative Marketing LLC	First Offer - \$4.50	163 / each	\$733.50		Υ			
Product Code:		Supplier Product Co	de: G2300					
Agency Notes:		Supplier Notes: Deli	very after receipt of	Purchase	Order::			

	•	30 Days	'	Page 29 01 4	+2
The Player's Connection [Ad]	First Offer - \$5.00	163 / each	\$815.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	Order::

OPN2116616B101-101 T-Shirt, 100% Open End Cotton, Short Sleeve, Orange, S - XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sharp Marketing	First Offer - \$5.66	46 / each	\$260.36		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Gildan - Ultra Cotton 10	very after receipt of		Order::		
DMR Creative Marketing LLC	First Offer - \$6.05	46 / each	\$278.30		Υ		
Product Code: Agency Notes:		Supplier Product Code: G2300 Supplier Notes: Delivery after receipt of Purchase Order:: 30 Days					
The Player's Connection [Ad]	First Offer - \$6.25	46 / each	\$287.50		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order 15 Business Days from artwork approval			Order::		

OPN2116616B101-102 T-Shirt, 100% Open End Cotton, Short Sleeve, Various colors, S - XL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Sharp Marketing	First Offer - \$5.66	975 / each	\$5,518.50		Υ			
Product Code: Agency Notes:		Supplier Product Code: 2300 Supplier Notes: Delivery after receipt of Purchase Order:: 30 Gildan - Ultra Cotton 100% Cotton T-Shirt with Pocket						
DMR Creative Marketing LLC	First Offer - \$6.05	975 / each	\$5,898.75		Υ			
Product Code: Agency Notes:		Supplier Product Code: G2300 Supplier Notes: Delivery after receipt of Purchase Order:: 30 Days						
The Player's Connection [Ad]	First Offer - \$6.25	975 / each	\$6,093.75		Υ			
		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Orde 15 Business Days from artwork approval						

OPN2116616B101-103 T-Shirt, 100% Open End Cotton Jersey, Short Sleeve, White, 2XL - 4XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
DMR Creative Marketing LLC	First Offer - \$4.50	975 / each	\$4,387.50		Υ		
Product Code: Agency Notes:		Supplier Product Code: G2300 Supplier Notes: Delivery after receipt of Purchase Orde 30 Days			Order::		
Sharp Marketing	First Offer - \$7.12	975 / each	\$6,942.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: 2300 Supplier Notes: Delivery after receipt of Purchase Order: 30 Gildan · Ultra Cotton 100% Cotton T-Shirt with Pocket					
The Player's Connection [Ad]	First Offer - \$8.00	975 / each	\$7,800.00		Υ		
Product Code:		Supplier Product Co	ode:				

Exhibit 1 Page 30 of 42

,	1 age 30 01 42	
Agency Notes:	Supplier Notes: Delivery after receipt of Purchase Order:	
	15 Business Days from artwork approval	

OPN2116616B101-104 T-Shirt, 100% Open End Cotton Jersey, Short Sleeve, Orange, 2XL- 4XL					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sharp Marketing	First Offer - \$8.84	48 / each	\$424.32		Υ
Product Code: Agency Notes:		30	ode: 2300 ivery after receipt of 00% Cotton T-Shirt with I		e Order::
The Player's Connection [Ad]	First Offer - \$9.50	48 / each	\$456.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order:: 15 Business Days from artwork approval			
DMR Creative Marketing LLC	First Offer - \$10.65	48 / each	\$511.20		Υ
Product Code: Agency Notes:		Supplier Product Code: G2300 Supplier Notes: Delivery after receipt of Purchase Order 30 Days 2XL & 3XL will be cheaper			

OPN2116616B101-105 T-Shirt, 100% Open End Cotton Jersey, Short Sleeve, Various color, 2XL - 4XL					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sharp Marketing	First Offer - \$8.84	510 / each	\$4,508.40		Υ
Product Code: Agency Notes:		30	ode: 2300 ivery after receipt of 00% Cotton T-Shirt with I		e Order::
The Player's Connection [Ad]	First Offer - \$9.50	510 / each	\$4,845.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order:: 15 Business Days from artwork approval			
DMR Creative Marketing LLC	First Offer - \$10.65	510 / each	\$5,431.50		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days 2XL-3XL Will be cheaper	ivery after receipt of	Purchase	e Order∷

OPN2116616B101-106 T-Shirt, Long Sleeve,50% Cotton/50% Dry Blend Polyester, White, S- XL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
DMR Creative Marketing LLC	First Offer - \$2.70	231 / each	\$623.70		Υ			
Agency Notes:		Supplier Product Code: G8000 Supplier Notes: Delivery after receipt of Purchase Order:: 30 Days						
Sharp Marketing	First Offer - \$4.26	231 / each	\$984.06		Υ			
Product Code: Agency Notes:		Supplier Product Code: 8400 Supplier Notes: Delivery after receipt of Purchase Order 30 Gildan - DryBlend 50 Cotton/50 Poly Long Sleeve T-Shirt						
The Player's Connection [Ad]	First Offer - \$4.95	231 / each	\$1,143.45		Υ			
Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	Order:			

OPN2116616B101-107 T-Shirt, Short	Sleeve, 50% Cottor	n/50% Dry Blend, Wh	ite. S - XL		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sharp Marketing	First Offer - \$2.28	362 / each	\$825.36		Υ
Product Code: Agency Notes:	Supplier Product Code: 8000 Supplier Notes: Delivery after receipt of Purchase Order:: 30 Gildan - DryBlend 50 Cotton/50 Poly T-Shirt				
The Player's Connection [Ad]	First Offer - \$2.75	362 / each	\$995.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order:: 15 Business Days from artwork approval			
DMR Creative Marketing LLC	First Offer - \$4.85	362 / each	\$1,755.70		Υ
Agency Notes:		Supplier Product Code: G8400 Supplier Notes: Delivery after receipt of Purchase Order: 30 Days			

OPN2116616B101-108 Unisex Long Sleeve Polos, Polyester, Various colors, XXS - XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sharp Marketing	First Offer - \$12.86	104 / each	\$1,337.44		Υ		
Product Code: Agency Notes:		Supplier Product Code: 1578 Supplier Notes: Delivery after receipt of Purchase Order: 30 HI-PERFORMANCE MESH LONG SLEEVE POLOHI-PERFORMANCE MESH					
The Player's Connection [Ad]	First Offer - \$14.00	104 / each	\$1,456.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	e Order::		

OPN2116616B101-109 Unisex Long Sleeve Polos, 100 # Polyester, Various colors, 2XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sharp Marketing	First Offer - \$15.42	22 / each	\$339.24		Υ		
Product Code: Agency Notes:		Supplier Product Code: 1578 Supplier Notes: Delivery after receipt of Purchase Order:: 30 HI-PERFORMANCE MESH LONG SLEEVE POLOHI-PERFORMANCE MESH					
The Player's Connection [Ad]	First Offer - \$17.00	22 / each	\$374.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	e Order::		

OPN2116616B101-110 Unisex Long Sleeve Polos, Polyester, Edwards #1578. Various Colors. 3XL - 4XL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Sharp Marketing	First Offer - \$16.71	18 / each	\$300.78		Υ			
Product Code: Agency Notes:		Supplier Product Code: 1578 Supplier Notes: Delivery after receipt of Purchase Order:: 30 HI-PERFORMANCE MESH LONG SLEEVE POLOHI-PERFORMANCE MESH						
The Player's Connection [Ad]	First Offer - \$18.95	18 / each	\$341.10		Υ			
Product Code:		Supplier Product Co	ode:					

Exhibit 1 Page 32 of 42

Agency Notes:

Supplier Notes: Delivery after receipt of Purchase Order::

15 Business Days from artwork approval

OPN2116616B101-111 Unisex Long Sleeve Polos, Polyester, Edwards 1578. Various Colors. 5XL - 6XL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sharp Marketing	First Offer - \$19.28	3 / each	\$57.84		Υ		
Product Code: Agency Notes:		Supplier Product Code: 1578 Supplier Notes: Delivery after receipt of Purchase Order: 30 HI-PERFORMANCE MESH LONG SLEEVE POLOHI-PERFORMANCE MESH					
The Player's Connection [Ad]	First Offer - \$22.00	3 / each	\$66.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::		

OPN2116616B101- 112 Women's Polo,	100% Polyester, E	dwards #5576, variou	us colors. XS - XL		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sharp Marketing	First Offer - \$10.00	346 / each	\$3,460.00		Υ
Product Code: Agency Notes:		Supplier Product Code: 5576 Supplier Notes: Delivery after receipt of Purchase C 30 LADIES' HI-PERFORMANCE MESH SHORT SLEEVE POLO			e Order::
The Player's Connection [Ad]	First Offer - \$11.50	346 / each	\$3,979.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	e Order::

OPN2116616B101- 113 Women's Polo,	100% Polyester, E	dwards 5576, various	s colors. 2XL		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sharp Marketing	First Offer - \$12.00	9 / each	\$108.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 LADIES' HI-PERFORMAN	very after receipt of		o Order::
The Player's Connection [Ad]	First Offer - \$13.95	9 / each	\$125.55		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sharp Marketing	First Offer - \$13.01	4 / each	\$52.04		Υ
Product Code: Agency Notes:		30	ode: 5576 ivery after receipt of ICE MESH SHORT SLEEV		e Order:∶
		4 / -	\$58.00		٧
The Player's Connection [Ad]	First Offer - \$14.50	4 / each	უ ებ.00		

OPN2116616B101-115 Baseball Hat, O	ne Size, embroid	lery of color County	logo & Division Name	е	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sharp Marketing	First Offer - \$4.65	310 / each	\$1,441.50		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Price Includes Embroide	very after receipt of	Purchase	Order::
The Player's Connection [Ad]	First Offer - \$4.75	310 / each	\$1,472.50		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	Order::

OPN2116616B101- 116 Baseball Hat, 5	Panel, Cotton tw	vill, one size, include	County & Division Io	ogo	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sharp Marketing	First Offer - \$4.65	406 / each	\$1,887.90		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Price includes embroide	very after receipt of	Purchase	Order::
The Player's Connection [Ad]	First Offer - \$5.50	406 / each	\$2,233.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	Order::

OPN2116616B101-117 Broward Count	y Embroidery One	time Set Up Charge			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
The Player's Connection [Ad]	First Offer - \$10.00	1 / each	\$10.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del 15 Business Days from	ivery after receipt of	Purchas	e Order::
Sharp Marketing	First Offer - \$50.00	1 / each	\$50.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del 30		Purchas	e Order::
DMR Creative Marketing LLC	First Offer - \$100.00	1 / each	\$100.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del 30 Days		Purchas	e Order::

OPN2116616B101- 118 Broward County	/ Silkscreen Set Up	Charge.			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
The Player's Connection [Ad]	First Offer - \$10.00	46 / each	\$460.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del 15 Business Days from	ivery after receipt of	^F Purchas	e Order:
Sharp Marketing	First Offer - \$20.00	46 / each	\$920.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del 30	ode: ivery after receipt of	Purchas	e Order::

DMR Creative Marketing LLC	First Offer - \$100.00	46 / each	\$4,600.00	J	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days		Purchase	e Order::

OPN2116616B101-119 Embroidery Cha	arge, Broward Co	unty Logo			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
The Player's Connection [Ad]	First Offer - \$1.25	3783 / each	\$4,728.75		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	Order::
DMR Creative Marketing LLC	First Offer - \$2.25	3783 / each	\$8,511.75		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days	de: EMB CHARGE very after receipt of	Purchase	Order::
Sharp Marketing	First Offer - \$2.53	3783 / each	\$9,570.99		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30	ode: very after receipt of	Purchase	Order::

OPN2116616B101-120 Embroidery Cha	arge, Division Nar	ne			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
The Player's Connection [Ad]	First Offer - \$1.25	4428 / each	\$5,535.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	Order::
Sharp Marketing	First Offer - \$2.24	4428 / each	\$9,918.72		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30	ode: very after receipt of	Purchase	Order::
DMR Creative Marketing LLC	First Offer - \$2.25	4428 / each	\$9,963.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days	ode: EMB CHARGE very after receipt of	Purchase	Order::

OPN2116616B101- 121 One Color Silks	creen Charge, "LI	FEGUARD" & Symbo	I on back of shirt		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sharp Marketing	First Offer - \$0.53	686 / each	\$363.58		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30		Purchase	Order::
The Player's Connection [Ad]	First Offer - \$0.90	686 / each	\$617.40		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	Order::
DMR Creative Marketing LLC	First Offer - \$2.25	686 / each	\$1,543.50		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days		Purchase	Order::

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sharp Marketing	First Offer - \$0.66	150 / each	\$99.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes: De 30	ode: livery after receipt of	Purchase	Order:
The Player's Connection [Ad]	First Offer - \$0.90	150 / each	\$135.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes: De 15 Business Days from	livery after receipt of	Purchase	Order:
Product Code: Agency Notes:		Supplier Product C Supplier Notes: De 30 Days	ode: SILKSCREEN livery after receipt of	Purchase	Order:

OPN2116616B101-123 Silkscreen Charge, Broward County Logo, as per Specifications (Multi-color)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Sharp Marketing	First Offer - \$0.91	2429 / each	\$2,210.39		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del 30	olier Product Code: olier Notes: Delivery after receipt of Purchase Ord			
The Player's Connection [Ad]	First Offer - \$1.85	2429 / each	\$4,493.65		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del 15 Business Days from	ivery after receipt of	Purchase	order::	
DMR Creative Marketing LLC	First Offer - \$2.50	2429 / each	\$6,072.50		Υ	
Product Code: Agency Notes:		Supplier Product Code: SILKSCREEN Supplier Notes: Delivery after receipt of Purchase Order: 30 Days			Order::	

OPN2116616B101-124 Silkscreen Charge, Broward County Logo, (One Color)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Sharp Marketing	First Offer - \$0.44	2159 / each	\$949.96		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase On 30			Order::	
The Player's Connection [Ad]	First Offer - \$0.90	2159 / each	\$1,943.10		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order: 15 Business Days from artwork approval				
DMR Creative Marketing LLC	First Offer - \$2.25	2159 / each	\$4,857.75		Υ	
Product Code: Agency Notes:		Supplier Product Code: SilkScreen One Color Supplier Notes: Delivery after receipt of Purchase Orde 30 Days		Order::		

OPN2116616B101-125 Silkscreen Charge for Division Name							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		

	County	Jommissioners	Page 36 of 42		
Sharp Marketing	First Offer - \$0.38	3572 / each	\$1,357.36		Υ
Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Or 30			
The Player's Connection [Ad]	First Offer - \$0.90	3572 / each	\$3,214.80		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase C	Order::
DMR Creative Marketing LLC	First Offer - \$2.25	3572 / each	\$8,037.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Silk Screen Supplier Notes: Delivery after receipt of Purchase Order 30 Days			Order::

OPN2116616B101-126 Cap with Protective Neck Flap; embroidery of County logo & Division name									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
The Player's Connection [Ad]	First Offer - \$11.00	58 / each	\$638.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::				
Sharp Marketing	First Offer - \$13.89	58 / each	\$805.62		Υ				
Product Code: Agency Notes:		Supplier Product Code: EOM101 Supplier Notes: Delivery after receipt of Purchase Order 30 Price includes embroidery							

OPN2116616B101-127 Pants, 100% W	rinkle Resistant, Di	ckies WP314, Black,	Navy, Khaki: 28 - 42		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
The Player's Connection [Ad]	First Offer - \$18.00	20 / each	\$360.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Ord 15 Business Days from artwork approval			e Order:
DMR Creative Marketing LLC	First Offer - \$20.00	20 / each	\$400.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days	ode: WP314 very after receipt of	Purchase	e Order::
Sharp Marketing	First Offer - \$30.00	20 / each	\$600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: WP314 Supplier Notes: Delivery after receipt of Purchase Order 30 Price Includes hemming			order::

OPN2116616B101-128 Pants,M		1	1		_
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
The Player's Connection [Ad]	First Offer - \$20.00	10 / each	\$200.00		Υ
Product Code: Agency Notes:			r Product Code: r Notes: Delivery after receipt of Purchase Ordess Days from artwork approval		
		13 Dusiness Days II	om anwork approvar		
DMR Creative Marketing LLC	First Offer - \$22.00	10 / each	\$220.00		Υ

Sharp Marketing	First Offer - \$32.06	10 / each	\$320.60		Υ	
Product Code:		Supplier Product Code: WP314				
Agency Notes:		Supplier Notes: Deli	very after receipt of	Purchase	Order::	
		30				
		Price Includes hemming				

OPN2116616B101-129 Sport Shirt, Long Sleeve. Port Authority #K320: Various colors. Sizes: S- XL					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sharp Marketing	First Offer - \$15.28	10 / each	\$152.80		Υ
Product Code:		Supplier Product Co		Durchoo	Ondon
Agency Notes:		30	very after receipt of	Purchase	e Order::
		This SKU is discontinue	ed and has limited inven	tory.	
The Player's Connection [Ad]	First Offer - \$18.00	10 / each	\$180.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::
DMR Creative Marketing LLC	First Offer - \$18.00	10 / each	\$180.00		Υ
Product Code: Agency Notes:		Supplier Product Code: K320 Supplier Notes: Delivery after receipt of Purchase Order 30 Days			e Order::

OPN2116616B101-130 Sport Shirt, Short Sleeve, Adams WP7002, various colors, S - XL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Sharp Marketing	First Offer - \$11.32	10 / each	\$113.20		Υ				
Product Code: Agency Notes:		Supplier Product Code: WP7002 Supplier Notes: Delivery after receipt of Purchase Order 30 Inner Harbor Adult Pocket Mainsail Pique Sport Shirt							
The Player's Connection [Ad]	First Offer - \$13.00	10 / each	\$130.00		Υ				
Product Code:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	ivery after receipt of	Purchase	e Order::				

OPN2116616B101- 131 Cargo Shorts, 1	00% Cotton, 11 inc	ch inseam.Dickies WI	R351. Color: Green.	28 - 42	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
The Player's Connection [Ad]	First Offer - \$19.00	15 / each	\$285.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Ord 15 Business Days from artwork approval			e Order::
DMR Creative Marketing LLC	First Offer - \$22.50	15 / each	\$337.50		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days	ode: WR351 ivery after receipt of	Purchase	e Order::
Sharp Marketing	First Offer - \$23.24	15 / each	\$348.60		Υ
Product Code: Agency Notes:		Supplier Product Code: WR351 Supplier Notes: Delivery after receipt of Purchase Order: 30 Men's 11" Lightweight Ripstop Cargo Short			e Order::

OPN2116616B101- 132	Cargo Shorts, 1	00% Cotton; 11 inc	h inseam. Dickies W	/R351. Color: Green.	44-50	
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs

				age oo or	· -
The Player's Connection [Ad]	First Offer - \$20.00	10 / each	\$200.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of	Purchase	e Order::
Sharp Marketing	First Offer - \$23.24	10 / each	\$232.40		Υ
Product Code:		Supplier Product Co			
Agency Notes:		Supplier Notes: Deli 30 Men's 11" Lightweight F	,	Purchase	e Order::

OPN2116616B101-133 Visor with white embroidery "LIFEGUARD", County logo & Division Name							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
The Player's Connection [Ad]	First Offer - \$4.50	100 / each	\$450.00		Υ		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order:: 15 Business Days from artwork approval						
Sharp Marketing	First Offer - \$5.22	100 / each	\$522.00		Υ		
Product Code: Agency Notes:	Supplier Product Code: CP45 Supplier Notes: Delivery after receipt of Purchase Order:: 30 Price includes embroidery						
DMR Creative Marketing LLC	First Offer - \$5.25	100 / each	\$525.00		Υ		
Agency Notes:		Supplier Product Code: CP45 Supplier Notes: Delivery after receipt of Purchase Order: 30 Days					

OPN2116616B101-134 Knit Beanie, Cuffed, 100% Acrylic. Color: Tan. Size: One Size Fits Most.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Sharp Marketing	First Offer - \$2.41	60 / each	\$144.60		Υ			
Product Code:	Supplier Product Co	ode: 8130						
Agency Notes:	Supplier Notes: Deli	very after receipt of	Purchase	Order::				
		30						
		Adult Knit Beanie with (Cuff					
The Player's Connection [Ad]	First Offer - \$4.50	60 / each	\$270.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order:: 15 Business Days from artwork approval						

OPN2116616B101-135 Hooded Jacket, Sport-Tek JST73, Forest Green. XS - XL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Sharp Marketing	First Offer - \$17.64	150 / each	\$2,646.00		Υ			
Product Code: Agency Notes:	Supplier Product Code: JST73 Supplier Notes: Delivery after receipt of Purchase 30 Sport-Tek Hooded Raglan Jacket.				e Order::			
The Player's Connection [Ad]	First Offer - \$19.00	150 / each	\$2,850.00		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Orde 15 Business Days from artwork approval							
DMR Creative Marketing LLC	First Offer - \$20.85	150 / each	\$3,127.50		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli		Purchase	e Order::			

	30	Days
ш		

OPN2116616B101-136 Hooded Jacket, Sport-Tek JST73, Forest Green: 2XL								
Supplier	Unit Price	1	Total Price	Attch.	Docs			
Sharp Marketing	First Offer - \$18.81	30 / each	\$564.30		Υ			
Product Code: Agency Notes:	Supplier Product Code: JST73 Supplier Notes: Delivery after receipt of Purchase Order:: 30 Sport-Tek Hooded Raglan Jacket.							
The Player's Connection [Ad]	First Offer - \$20.00	30 / each	\$600.00		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order:: 15 Business Days from artwork approval							
DMR Creative Marketing LLC	First Offer - \$22.25	30 / each	\$667.50		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days	ode: JST73 ivery after receipt of	Purchase	e Order::			

OPN2116616B101-137 Hooded Jacket, Sport-Tek JST73, Forest Green, 3XL.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Sharp Marketing	First Offer - \$21.16	15 / each	\$317.40		Υ			
Product Code: Agency Notes:	Supplier Product Code: JST73 Supplier Notes: Delivery after receipt of Purchase Order:: 30 Sport-Tek Hooded Raglan Jacket.							
The Player's Connection [Ad]	First Offer - \$24.00	15 / each	\$360.00		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order:: 15 Business Days from artwork approval							
DMR Creative Marketing LLC	First Offer - \$24.95	15 / each	\$374.25		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days	ode: JST73 very after receipt of	Purchase	e Order::			

OPN2116616B101-138 Hooded Jacket, Sport-Tek JST73, Forest Green. Sizes: 4XL.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Sharp Marketing	First Offer - \$22.34	10 / each	\$223.40		Υ			
Product Code: Agency Notes:	Supplier Product Code: JST73 Supplier Notes: Delivery after receipt of Purchase Order:: 30 Sport-Tek Hooded Raglan Jacket.							
The Player's Connection [Ad]	First Offer - \$25.00	10 / each	\$250.00		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order:: 15 Business Days from artwork approval							
DMR Creative Marketing LLC	First Offer - \$26.35	10 / each	\$263.50		Υ			
Product Code: Agency Notes:		Supplier Product Code: JST73 Supplier Notes: Delivery after receipt of Purchase Order 30 Days						

Exhibit 1 Page 40 of 42

			ŗ	age 40 oi 4	+2			
OPN2116616B101-139 Polo, Sport-Tek ST651, 100% Polyester tricot. Various colors, Small- X-Large								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Sharp Marketing	First Offer - \$15.28	150 / each	\$2,292.00		Υ			
Product Code: Agency Notes:	Supplier Product Code: ST651 Supplier Notes: Delivery after receipt of Purchase Order:: 30 Sport-Tek Micropique Sport-Wick Pocket Polo							
The Player's Connection [Ad]	First Offer - \$18.00	150 / each	\$2,700.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order: 15 Business Days from artwork approval						
DMR Creative Marketing LLC	First Offer - \$18.00	150 / each	\$2,700.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: ST651 Supplier Notes: Delivery after receipt of Purchase Order 30 Days						

OPN2116616B101-140 Polo, Sport-Tek ST651, 3.8 oz. 100% Polyester tricot. Various colors 2XL -4XL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Sharp Marketing	First Offer - \$19.99	50 / each	\$999.50		Υ			
		Supplier Product Co		Durchase	Ondon			
Agency Notes:	gency Notes: Supplier Notes: Delivery after receipt of Pure 30			Purchase	order::			
		Sport-Tek Micropique S	Sport-Wick Pocket Polo					
The Player's Connection [Ad]	First Offer - \$22.00	50 / each	\$1,100.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes: Delivery after receipt of Purchase Order:: 15 Business Days from artwork approval						
DMR Creative Marketing LLC	First Offer - \$23.55	50 / each	\$1,177.50		Υ			
Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days Prices are less for 2XL, 3	very after receipt of	Purchase	o Order::			

OPN2116616B101-141 T-Shirt, Port & Company PC61LSP. Long sleeve, various colors, Small -XL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Sharp Marketing	First Offer - \$7.53	150 / each	\$1,129.50		Υ			
Product Code: Agency Notes:	Supplier Product Code: PC61LSP Supplier Notes: Delivery after receipt of Purchase Order:: 30 Port & Company - Long Sleeve Essential Pocket Tee							
DMR Creative Marketing LLC	First Offer - \$8.95	150 / each	\$1,342.50		Υ			
Product Code: Agency Notes:		Supplier Product Code: PC61LSP Supplier Notes: Delivery after receipt of Purchase Order:: 30 Days						
The Player's Connection [Ad]	First Offer - \$9.95	150 / each	\$1,492.50		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order: 15 Business Days from artwork approval						

OPN2116616B101-142 T-Shirt, Port & Company PC61LSP. Long sleeve, Various colors, 2XL -4XL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Sharp Marketing	First Offer - \$11.15	20 / each	\$223.00	·	Υ	

			Faye 41	01 72
Product Code: Agency Notes:		30	de: PC61LSP very after receipt of Purch Sleeve Essential Pocket Tee	ase Order::
The Player's Connection [Ad]	First Offer - \$13.00	20 / each	\$260.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 15 Business Days from	very after receipt of Purch	ase Order::
DMR Creative Marketing LLC	First Offer - \$13.15	20 /	#000 00	
DIVIN Cleative Marketing LLC	Flist Offer - \$13.15	20 / each	\$263.00	Υ

OPN2116616B101-143 Cap, Port Authority Pro Mesh C833. multi-color embroidery, County logo, Div					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
The Player's Connection [Ad]	First Offer - \$6.25	100 / each	\$625.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Delivery after receipt of Purchase Order:: 15 Business Days from artwork approval				
Sharp Marketing	First Offer - \$6.40	100 / each	\$640.00		Υ
Product Code: Agency Notes:	Supplier Product Code: C833 Supplier Notes: Delivery after receipt of Purchase Order:: 30 Price includes embroidery				
DMR Creative Marketing LLC	First Offer - \$7.00	100 / each	\$700.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli 30 Days		Purchase	Order::

S	u	p	p	li	е	r	T	0	ta	a	IS	

f The Player	r's Connection [Ad]	\$174,701.55 (143/143 items)	_
Bid Contact	Stacy Torres stacy@playersconnectionflorida.com Ph 954-916-1171	Address 18654 NW 67th Avenue Miami, FL 33015	
Supplier Code	VS0000007304		
Qualifications	CBE DBE MBE SB SBE WBE		
Agency Notes	s:	Supplier Notes:	Head Attch:
f Sharp Mar	keting	\$205,577.29 (143/143 items)	
Bid Contact	greg ernewein nestor@sharpmarketing.com Ph 954-565-2711 Fax 954-565-2775	Address 655 West Prospect Fort Lauderdale, FL 33309	
Supplier Code	VC0000033227		
Qualifications	CBE MBE SB SBE		
Agency Notes	s:	Supplier Notes:	Head Attch:

Exhibit 1 OPN Page 42 of 42

		Fage 42 01 42		
DMR Crea	ative Marketing LLC	\$135,904.39 (83/143 items)		
Bid Contact	Michael Duaybes mduaybes@dmrcreativellc.com Ph 954-832-6765	Address POMPANO BEACH, FL 33069		
Bid Notes	All products will be delivered 30 days after Purchase Order entered. Rush Ability available. Please call 954-832-6765 for instruction. All prices are for blank apparel as per bid, unless otherwise stated in line item description. All Broward County Embroidery, Silk Screen Charge are based on 2 location print/embroidery. Prices may be less if one location only.			
Agency No	tes:	Supplier Notes: All products will be delivered 30 days after Purchase Order entered. Rush Ability available. Please call 954-832-6765 for instruction. All prices are for blank apparel as per bid, unless otherwise stated in line item description. All Broward County Embroidery, Silk Screen Charge are based on 2 location print/embroidery. Prices may be less if one location only.		

Award Total

\$174,701.55 (Does not apply to percentage or no price items.)

10/10/2018 BidSync p. 43